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TOTAL | JlEfZ | TOTAL | NET TOTAL | EfZ | TOTAL | NET
FHE KHR
471 1 484 4
K 4% OUT | IN |TOTAL |[HDCP| NET K % OUT | IN |TOTAL HDCP| NET
Bk H 4] 33 | 39 72 *| 424 |744 7 B % # 39 | 36 75 *| 24 |726
£ I ®# W 39 | 36 75 *| 36 |714 B A = 38 | 40 78 *| 24 |756
S T 39 | 40 79 *| 24 |766 OB B & 37 | 43 80 *| 3.6 |764
® R KX E 39 | 40 79 *| 72 |718 gk W & 8A 41 | 40 81 *| 84 726
W H # B 39 | 41 80 *| 4.8 |75.2 EE B B H#H 42 | 4 83 *| 7.2 |758
W B R 8h 41 | 45 86 *| 10.8 |75.2 oOE I xR 45 | 42 87 *| 7.2 |7938
oM - 8% 47 | 45 92 | 144 (716 Xx W E F 48 | 43 91 | 132|778
TOTAL | %z | TOTAL | NET TOTAL | Bz | TOTAL | NET
AZEE R &%
473 2 485 5
K 4 OUT | IN |TOTAL HDCP| NET K % OUT | IN |TOTAL |HDCP| NET
a5 [N 40 | 36 76 *| 24 |736 B Z & @l = 39 | 35 74 *| +1.2 | 75.2
1 M 39 | 39 78 *| 48 |73.2 B B & 44 | 34 78 *| 6.0 |720
X B ® 40 | 39 79 *| 48 742 ¥ 0O ® % 39 | 41 80 *| 6.0 |74.0
"7 H O FE = 38 | 41 79 *| 36 |754 H B % 43 | M 84 *| 84 756
F M —  ER 38 | 42 80 *| 6.0 |74.0 w B & &£ X 41 | 43 84 *| 84 |756
HOE B = 38 | 43 81 *| 7.2 738 7 m F B 45 | 40 85 *| 10.8 | 74.2
o= Il B sh 50 | 38 88 7.2 1808 E W E B 49 | M 90 | 132 |76.8
TOTAL | Bz | TOTAL | NET TOTAL | lBGL | TOTAL | NET
NI wAR
478 3 485 6 (4442 7
K 4 OUT | IN |TOTAL |HDCP| NET K % OUT | IN |TOTAL|HDCP| NET
m o B R 40 | 37 77 % 24 746 2 &5 B = 39 | 36 75 *| 1.2 |738%*
x B h — BB 39 | 38 77 *| 48 |72.2 B £ B 5h 39 | 40 79 *| 48 |74.2*
% X A F 45 | 35 80 *| 6.0 |74.0 X #E & % 39 | 41 80 *| 6.0 |740*
B X F oz 40 | 40 80 *| 84 |716 m A i 43 | 40 83 *| 96 |734*
n 8 E = 37 | 44 81 *| 6.0 750 Zi=I - = 42 | 41 83 *| 96 |734%*
B & E & 43 | 40 83 *| 84 |746 WK ot 41 | 44 85 *| 96 |754*
X & E — & 43 | 42 85 | 12.0 |73.0 B 5 44 | 49 93 | 7.2 |85.8
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TOTAL | JEfZ | TOTAL | NET TOTAL | lEfZ | TOTAL | NET
EF N
488 7 14466| 9 495 10 (4458 8
K % OUT | IN |TOTAL|HDCP| NET K £ OUT | IN |TOTAL HDCP| NET
X A B i 38 | 40 78 *| 84 |696* BN # 36 | 37 73 *| 12 |71.8*
m ® - =% 41 | 39 80 *| 6.0 |740* X | 4B 2 36 | 41 77 *| 60 |71.0*
kX H - 41 | 39 80 *| 48 |75.2* b I | I 7 38 | 43 81 *| 36 |774%
fF B X B 37 | 44 81 *| 36 |774 E O3 ®OE 44 | 44 88 *| 10.8 |77.2*
H O EL 42 | 42 84 *| 84 |756* N F OE OB 43 | 45 88 *| 12.0 |76.0*
r & B 17 42 | 43 85 *| 84 |766* ¥ A5 O E - 43 | 45 88 *| 156 |724*
x A o 45 | 45 90 | 144 |756* g &% - B 56 | 41 97 7.2 1898
TOTAL | S | TOTAL | NET TOTAL | EfZ | TOTAL | NET
=g T4
490 8 (4372 1 495 11 [439.8| 3
K £ OUT | IN |TOTAL|HDCP| NET K £ OUT | IN |TOTAL HDCP| NET
F K H 17 38 | 37 75 *| 24 |726* o E B g 35 | 39 74 % 0 |740%*
5 K E 7 39 | 38 77 *| 60 |71.0* HHE A X 39 | 39 78 *| 48 |732*
m &N R & 41 | 38 79 *| 84 |706* " it 42 | 40 82 *| 108 [71.2*
A B o 42 | 42 84 *| 108 |73.2* # oW = 42 | 44 86 *| 132 |72.8*
3y o B OE 43 | 44 87 *| 120 | 750* 1\~ N R (3 45 | 42 87 *| 12.0 | 750*
X B # = 38 | 50 88 *| 132 |748* X HF ®H = 44 | 44 88 *| 144 | 736*
X B (L 43 | 46 89 | 120 770
TOTAL | ESZ | TOTAL | NET TOTAL | Bz | TOTAL| NET
B3 =R
490 9 4430 4 499 12 (4498 11
K % OUT | IN |TOTAL|HDCP| NET K % OUT | IN |TOTAL HDCP| NET
a5 O #® 38 | 37 75 * 24 |726% #HOE M B 37 | 40 77 *| 24 |746%
B 7 K 3% K B 37 | 39 76 *| 36 |724%* T K B — 44 | 36 80 *| 48 |752*
X B ®H =E 40 | 39 79 % 0 |79.0 x H O F 2z 38 | 46 84 *| 120 |720*
5 & F Ik 41 | 42 83 *| 84 |746* m & B = 4 | 44 85 *| 96 |754*
mo B B’ 42 | 44 86 *| 13.2 | 72.8* i A 46 | 40 86 *| 72 |788*
X H # 45 | 46 91 *| 156 |754* £ B X X 43 | 44 87 *| 132 |738*
B H# g2 47 | 45 92 | 168 |75.2* % K #F = 49 | 48 97 | 156 814
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TOTAL | llEfL | TOTAL | NET TOTAL | Bz | TOTAL | NET
=<5 A
500 13 14488 10 506 16 [443.2 5
K £ OUT | IN |TOTAL|HDCP| NET K % OUT | IN |TOTAL|HDCP| NET
% B &# & 39 | 41 80 *| 48 |75.2* & B F A 39 | 39 78 *| 6.0 |720*
&8 H &= -— 40 | M 81 *| 84 |726* E H E B 46 | 35 81 * 12 |798
> W @m & 42 | 42 84 *| 108 | 73.2* B B M = 40 | 43 83 *| 84 |746*
(/N T} x 47 | 37 84 *| 96 |744% xOF &l 42 | 44 86 *| 10.8 |75.2*
w K R X 42 | 43 85 *| 84 |766* m B\ 8% - 46 | 43 89 *| 156 | 734*
¥ B £ = 43 | 43 86 *| 48 [812 E H A& M@ 45 | 44 89 *| 144 |746*
+r H b 48 | 42 90 | 132 |76.8* H £ B KX BB 45 | 44 89 | 156 |734*
TOTAL | JIESL | TOTAL | NET TOTAL | Bz | TOTAL | NET
FAREA 1| MBEELL
503 14 4436 6 525 17 1460.2| 12
K £ OUT | IN |TOTAL|HDCP| NET K % OUT | IN |TOTAL|HDCP| NET
;m #Hm E A 44 | 36 80 *| 72 |728%* #F MK E = 39 | 42 81 *| 72 |738*
X #F sh = 42 | 39 81 *| 108 |70.2* OB OOx #H 39 | 42 81 *| 60 |750*
MNoO b2 44 | 40 84 *| 96 |744* Hy ot ' N 42 | M 83 *| 72 |758*
A+ A B 2 41 | 43 84 *| 84 |756* E KX ¥ E 42 | 50 92 *| 13.2 | 78.8*
*r & # = 41 | 45 86 *| 84 |77.6 t B 5 B = 44 | 49 93 *| 156 |77.4*
[T S : S 46 | 42 88 *| 13.2 |74.8* B B EBE =B 46 | 49 95 *| 156 |794*
®OE B = 45 | 44 89 | 132 |758*
TOTAL | JEfZ | TOTAL | NET
B3t
504 15 1439.2| 2
K £ OUT| IN |TOTAL|HDCP| NET
2 B X # 40 | 38 78 *| 84 |696*
X B i al 40 | M 81 *| 6.0 |75.0*
= tn i E 41 | 44 85 *| 108 |74.2*
1T N & 43 | 42 85 *| 84 |76.6
P D N || 4 | M 85 *| 108 |74.2*
* PH E 17 45 | 45 90 *| 19.2 [70.8*
=3 B OK H 43 | 48 91 | 156 |754*




